the lines through the given points are ... 1
h‘;:tstw your answer. e parallel, perpendicylqy,

Chapter 3 |
P 4 f,“,nher- o M)
12. 44°,136°%;, m£2 = 136° because 3.1 Classify the angle pair as corresponding, alternate interior, alternate 1 gine L (7, 4) (180’55)) 25. {..‘:ne 15 (=3, 1, (=2,5) e
if two parallel lines are cut by a exterior, or consecutive interior angles. 1\ 24 ine 2: (2, 3)'. ( . i 2502862:s»(~1, <3), {5/ <2} v ) mé@‘ﬁﬁﬁmsw) e b
(I'GIISVGI’SEL then the a"e’“ate 1. /6and £2 corresponding 2. /7 and £ 2 alternate exterior a4 | Pafa"e'; the S op b b . r £0, O80 mal_‘g"'. & R,‘?('zg'?z‘)u"' -
o~ ; : . line through the given points is steeper, o d L .z >

exterior angles are congruent; s S utive R AT a— | which A I e
mZ1 = 44° because itis a linear 3. Z5and £3 icme,;m 4.242an RSSO f" erfor 578 44 fel 1: (0, —6), (—4, —9) 28. Line 1: (-, -5), (=] 3) s e DLSLI » |
pair with £ 2. 5.21and £5 corresponding 6. £3 and £6 alternate interior 8 l 7. :::28 9. (2, 5) (1, i)) 3 Line 2: (-3, 4), (-5, :l) | “'!Lﬁegmfmﬂmjtul. L#
13.68° 112° m £ 1 = 68° because | ossibl ? ';"e" " | ~ Linet " f-;_!_;ﬂhilf)’gxﬁ(a—,;l%) "
if two parallel lines are cut by a 3.1 Copy and complete the statement. List all possible correct answers. e 4 equation of the line that passes throughuuﬂm mplndhu‘ L ne 1
transversal, then the alternate 7. ZAMBand ? are corresponding angles. ~ HLMand .~ MJC 35 e given slope m e |
interior angles are congruent; . | m =2 31. P(-3,0),m=2 S — 2
mZ2 = 112° because it is a linear 8. Z/AMLand ? are alternate interior angles. 2~ MIK ) p(4, ;).z ok 4 i/ lx+g 32. P(9,4), mr__%
pair Wloth 41. i 9. #CJDand ? are alternate exterior angles. = FKLand .~ AML » equation of the line that passes (hr(amgh g, AT o : rzls-igtw ;;ll e 28
14.106%, 106%; m 21 = 106 10. ZLMJand ? are consecutive interior angles. = MLKand - MJK = | = |

ﬁwh:'nnewuh the given equation. o)y o al g p s SEIEEL
{ . |

because if two parallel lines are
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cut by a transversal, then the cor- 11. _? isatransversal of AD and HE. BG and CF . P, _2),y= ;?-x:zs 34. P(6,3),y =_%x1+ 12 }‘ é’
:29;'::%96322:::"2? 2(1)"89“!:940; 3.2 Find m2 1 and m/ 2. Explain your reasoning. 12-14. See margin. . p0,3), Y= iIx — 2 37. P(-9,4), y’-; 2',2_ x?: i" 5 ; :‘{-f:
are vertical angles. 12. 13. . 4 14, | y= ks = -g-x -35-8- |
19. Yes; if two lines are cut by a - 1 106°  pind m< ADB:
transversal so that a pair of - > g 1 3 40. e
consecutive interior angles are 2 39 ﬁ
supplementary, then the lines are / g |
parallel. 21° ,
20. Yes; if two lines are cut by a 3.2 Find the values of xand y. 0 ¢ g0
transversal so that a pair of 15. 16. =
consecutive interior angles are = ey 43,
supplementary, then the lines are ==
parallel. Ix°
21. Yes; if two lines are cutby a N T -
transversal so that alternate 9,1 30, 10 -3 59°
interior angles are congruent, then : . A
the lines are parallel. . e :;:;:::;3: %::)::30::3"0" e prove.milnt Wan, statethe postulate o¢ 36 45. Copy and complete the proof.
22. Yes; if two lines are cut by a | CIVEN P BA | BC. A 0
transversal so that a pair of | o i j f L | BD bisects ZABC.
consecutive interior angles are | - : > : o
supplementary, then thg lines are ISR IS dtones = ) :
parallel. Or if two lines are cut by = . STATEMENTS | REASONS
a transversal so that the alternate T Boct-wi -
interior angles are congruent, then kit 1. 2 Given | | . .|
the lines are parallel. no 2. ¢ ABCis aright angle. 2. Defmmon. ?f per;?endlcular lines 1 ]
23. Yes:; if two lines are cut by a ) 3.3 Can you prove that lines @ and b are parallel? If so, exp2luin how. 21-23. See margin. 3. M« »\B(; = 90° 3. _? _ Definition of right angle i j
transversal so that a pair of 21. 22, 3 <. DHnsectsJASC. 4 Given -I': |
coRsecutive- mterior-anglesare— 5. mZABD = m«DBC 5. _2_ Definition of angle bisector !!
st | 6. m-ABC=_2 + 2 M AR 6. Angle Addition Postulate :1 :
: | —£ *_ ¢ mzDBC & |
parettel. 1+ | +erior ary 2 7. m. ABD + m«£ DBC = 90° 7. _2  Transitive Property of Equality J‘ |
8. msABD+ ? =90° mZABD 8. Substitution Property of Equality g |
| N 9. 2(mZABD) = 90° 9. _2 Simplify. 1 5
i 10. m 2 ABD = 45° 10. _?  Division Property of Equality B
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